mixed operations

BODMAS

1 2 3 4 5 6
B=Brackets O= Of D= Division M=Multiplication A=Addition S=Subtraction

)y 2+5x2+2= | |

- |
2) 2+ (Bx2)-2-= | |
77777 _
- |
3 (2x2)-2-= | |
77777 _
- |
9 4 +2x3 = | | .
77777 _
B * '
55 8 -2 +3 = o - :
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Answers

mixed operations

BODMAS

1 2 3 4 5 6
B=Brackets O= Of D= Division M=Multiplication A=Addition S=Subtraction

1) 2+Hx2+2-= | 7 |
e _
****** |
2 2+(Bx2)-2= 10 |
‘ 77777 _
I |
3 (x2)-2-= ‘ 2 |
77777 _
I |
H 4+2x3-= | 6 |
77777 _
- |
| 7.33 |
5 8 -2 +3 = - N
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